#### BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

**EXAMINATION DEPARTMENT** 

Date: 05-MAR-2016

Reference: EXAM / SPADHI / BITIC / MESRA / MPHARMA-FIRST / (MO/15) 2015-2016

By the order of Examination committee, the following is the result of MPHARMA - FIRST Semester held in the month of NOV-2015

SESSION	: 2015-2016 CLASS : MP	15-2016 CLASS : MPHARMA											SEMES	TER / TR	IMESTE	R : F	IRST		MONTH OF EXAM : NOV-2015			
ROLL NO	NO NAME		MMA1101(3)		MPS1101(4) -		MPS1111(3) -		MPS1113(3) -		MPS1	MPS1131(3)		1112(2)	MPS1	114(2)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MPH/10003/15	PRIYA SHAW	U	В	18.0	B+	28.0	B+	21.0	Α	24.0	Α	24.0	B+	14.0	Α	16.0	-		145.0	20.0	7.25	_
1411 117 100007 10	THITTE	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	140.0	20.0	7.20	
MPH/10004/15	RUPCHAND PANDIT	U	B+	21.0	В	24.0	B+	21.0	B+	21.0	В	18.0	B+	14.0	Α	16.0	-	-	135.0	20.0	6.75	_
WITTI/ 1000-4/ 13	NOT OFFAND FANDET	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	155.0	20.0	0.73	
MPH/10008/15	AKASH BHATTACHARJEE	U	Α	24.0	B+	28.0	B+	21.0	Α	24.0	B+	21.0	Α	16.0	A+	18.0	-	-	152.0	20.0	7.60	_
101111710000713	ARAGITETIATTAGITATULL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	132.0	20.0	7.00	
MPH/10014/15	KUMARI LILY	U	Α	24.0	B+	28.0	B+	21.0	Α	24.0	B+	21.0	B+	14.0	Α	16.0	-	-	148.0	20.0	7.40	_
1011 11/10014/13	NOWAN EIET	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	140.0	20.0	7.40	_
MPH/10018/15	TABASSUM KHAIR BARBHUIYA	U	Ex	30.0	B+	28.0	Α	24.0	A+	27.0	Α	24.0	A+	18.0	A+	18.0	-	-	169.0	20.0	8.45	_
100 100 100 100 100	TADASSON KHAIK BARBHUHA	L	-	-	-	-	-	-	-	-	-	-	-	-		-	-	-	109.0	20.0	0.40	_
MDL/40039/45		U	B+	21.0	В	24.0	В	18.0	Α	24.0	B+	21.0	B+	14.0	Α	16.0	-	-	120.0	20.0	6.00	
MPH/10038/15	38/15 OINDRILA CHAKRABORTY	L	-	-	-	-	-	-	-	-	-	-	-	-		- ]	-	-	138.0	20.0	6.90	-

 MMA1101(3)
 : BIO-STATISTICS

 MPS1101(4)
 : ADVANCED INSTRUMENTAL ANALYSIS

 MPS1111(3)
 : STEREOCHEMISTRY & REAC MECH

 MPS1113(3)
 : BASIC APPIN DRUG DISC & DEV

 MPS1131(3)
 : BIOLOGICAL STD AND PHARMA SCR

 MPS1112(2)
 : MODERN ANALYTICAL TECHNIQ LAB

 MPS1114(2)
 : COMPUTER AIDED DRUG DESIGN LAB

Controller of Examinations

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

**EXAMINATION DEPARTMENT** 

Date: 05-MAR-2016

Reference: EXAM / SPADHI / BITIC / MESRA / MPHARMA-FIRST / (MO/15) 2015-2016

By the order of Examination committee, the following is the result of MPHARMA - FIRST Semester held in the month of NOV-2015

SESSION	: 2015-2016 CLASS : M	IPHARI	PHARMA			ANCH :	PHAR	MACY				SE	MESTER/TRIMESTER : FIRST						MONTH OF EXAM : NOV-201			/-2015
		U	U MMA1101(3)		MPS1101(4)		MPS1	103(3)	MPS1	1105(3)	MPS1	131(3)	MPS1	1102(4)	-		-		TOTAL CREDIT	TOTAL		
ROLL NO	NAME	L		-		-		-		-		-		-					POINTS	CREDITS	SGPA	REMARKS
		_	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MPH/10005/15	KAUSHANU SETT	U	Α	24.0	В	24.0	A	24.0	B+	21.0	B+	21.0	B+	28.0	<u> </u>	<u> </u>	<u> </u>		142.0	20.0	7.10	-
			A	24.0	B+	28.0	B+	21.0	B+	21.0	B+	21.0	A	32.0								
MPH/10006/15	BALWANT SINGH BANI	E	-	-	-	-	-	-	-	-	-	-		-	-	<u>-</u>	-	님	147.0	20.0	7.35	-
14511140000145		U	Ex	30.0	Α	32.0	A	24.0	Α	24.0	A+	27.0	Α	32.0	-	-	-	-	400.0			
MPH/10009/15	SUDHIR MAJGAINYA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	169.0	20.0	8.45	-
MPH/10011/15	RAGNI KUMARI	U	B+	21.0	В	24.0	С	15.0	В	18.0	В	18.0	В	24.0	-	-	-	-	120.0	20.0	6.00	_
WITTI/10011/13	IVAGNI NOWANI	L	-	-	-	-	-	-	-	-		-	-	-	-	-	-	-	120.0	20.0	0.00	_
MPH/10012/15	SANTOSH KUMAR GAMPA	U	B+	21.0	С	20.0	В	18.0	В	18.0	В	18.0	В	24.0		-	-	<u> </u>	119.0	20.0	5.95	-
		L	-	-	-	-	-	-	-	-		-	-			<u>  -  </u>	-	<u> </u>				
MPH/10013/15	GALI PUNITH KUMAR	U	Α	24.0	В	24.0	B+	21.0	B+	21.0	B+	21.0	Α	32.0	-	-	-		143.0	20.0	7.15	-
			-	-	-	-	-	-	-	-		-	-	-	-	-	-	<u>  -  </u>				
MPH/10019/15	AGRIMA NAUTIYAL	U	A+	27.0	B+	28.0	Α	24.0	A+	27.0	Α	24.0	Α	32.0	-	-	-		162.0	20.0	8.10	-
		L	-	-		-	-	-	-	-		-	-	-	-	<u> - </u>	-	<u> </u>				
MPH/10020/15	RUCHA VIJAY KHATI	Ľ	B+	21.0	B+	28.0	B+	21.0	Α	24.0	B+	21.0	B+	28.0	-	-	-	님	143.0	20.0	7.15	-
				27.0		32.0	 B+	21.0		27.0	A	24.0		32.0	_	<u> </u>						
MPH/10031/15	ARYA VIDYAHARI	F		-	_	- 32.0						24.0	_	- 52.0		<u>-</u>		님	163.0	20.0	8.15	-
		U	A	24.0	B+	28.0	В	18.0	A	24.0	A	24.0	В	24.0	-	-	-	-				
MPH/10034/15	ASIYA KHAN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	142.0	20.0	7.10	-
MPH/10040/15	NIDHIKA VEDGARBHA	U	Α	24.0	В	24.0	В	18.0	В	18.0	В	18.0	В	24.0	-	-	-	-	126.0	20.0	6.3	
IVIPT/ 10040/ 15	INDITINA VEDGARDIA	L	-	-	-	-	-	-	-	-	_	-	-	-	-	-	-	-	120.0	20.0	0.3	-
MPH/10041/15	JYOTI RANI	U	Α	24.0	B+	28.0	B+	21.0	Α	24.0	B+	21.0	B+	28.0	-	-	-	-	146.0	20.0	7.30	_
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	L	-	-	-	-	-	-	-	-		-	-	-		-		<u> </u>				

MMA1101(3) : BIO-STATISTICS MPS1101(4) : ADVANCED INSTRUMENTAL ANALYSIS MPS1103(3) : PRODUCT DEV & FORMULATION MPS1105(3) : PHYSICAL PHARMACEUTICS MPS1131(3) : BIOLOGICAL STD AND PHARMA SCR MPS1102(4) : PRODUCT DEV & FORMULATION LAB

Controller of Examinations

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

# BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / SPADHI / BITIC / MESRA / MPHARMA-FIRST / (MO/15) 2015-2016

By the order of Examination committee, the following is the result of MPHARMA - FIRST Semester held in the month of NOV-2015 Date: 05-MAR-2016

SESSION: 2015-2016 CLASS: MPHARMA					BRANCH : PHARMACY							SE	MESTE	R/TRIM	IESTEF	₹ :	FIRST		MONTH OF EXAM : NOV-2015			
ROLL NO	O NAME		ММА	1101(3) -	MPS1101(4)		MPS1103(3)		MPS1	MPS1105(3) -		131(3)	MPS1	102(4)	-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MPH/10042/15	MIHINI SHARMA	U	A+	27.0	B+	28.0	B+	21.0	A+	27.0	Α	24.0	B+	28.0	-	_	-	-	155.0	20.0	7.75	
WPH/10042/15	MININI SHARWA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	155.0	20.0	7.75	-

MMA1101(3)	: BIO-STATISTICS	-	:
MPS1101(4)	: ADVANCED INSTRUMENTAL ANALYSIS	-	:
MPS1103(3)	: PRODUCT DEV & FORMULATION	-	:
MPS1105(3)	: PHYSICAL PHARMACEUTICS	-	:
MPS1131(3)	: BIOLOGICAL STD AND PHARMA SCR	-	:
MPS1102(4)	: PRODUCT DEV & FORMULATION LAB	-	:
-	:	-	:

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Disclaimer

Grade card will be issued by the institute in due time.

### BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

**EXAMINATION DEPARTMENT** 

Date: 05-MAR-2016

Reference: EXAM / SPADHI / BITIC / MESRA / MPHARMA-FIRST / (MO/15) 2015-2016

By the order of Examination committee, the following is the result of MPHARMA - FIRST Semester held in the month of NOV-2015

SESSION	: 2015-2016	CLASS : MPHA	MPHARMA			BRANCH : PHARMACY							SEMES	TER/TR	RIMESTE	ER : F	IRST		MON	: NOV-2015		
ROLL NO	OLL NO NAME		L MM	A1101(3)	MPS	1101(4)	MPS1	1113(3)	MPS	1131(3)	MPS	1133(3)	MPS	1112(2)	MPS1	132(2)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MPH/10007/15	PRITHA BOSE	<u>                                     </u>	J A	24.0	B+ -	28.0	- -	24.0	_ A	24.0	A	24.0	B+ -	14.0	_ A	16.0	-	<u>-</u>     -	154.0	20.0	7.70	-
MPH/10015/15	RUPSA SETH		J A	24.0	A	32.0	Α -	24.0	B+	21.0	Α -	24.0	B+	14.0	Α _	16.0	-		155.0	20.0	7.75	-
MPH/10016/15	IFTIKA SULTANA		JA	24.0	B+	28.0	A+	27.0	Α	24.0	Α	24.0	B+	14.0	A	16.0	-	-	157.0	20.0	7.85	-
MPH/10017/15	SHIVANI SHARMA		J A	24.0	A	32.0	A+	27.0	A+	27.0	A+	27.0	A	16.0	A+	18.0	-		171.0	20.0	8.55	-
MPH/10022/15	SULAGNA KAR BHOWMI	K	J A	24.0	- B+	28.0	- A	24.0	- A	24.0	- A	24.0	- B+	14.0	- A	16.0	-	<u>-</u>	154.0	20.0	7.70	_
			└ - J A+	27.0	- В	24.0	- A	24.0	- A	24.0		24.0	- B+	14.0	 A	16.0	-	<u>-  </u>   -				
MPH/10024/15	PANCHATAPA CHOUDHU	JRI F	- -	-	-	-	-	-	-	-	-	-	-	-	-	-	-		153.0	20.0	7.65	-
MPH/10025/15	ANUPAMA BANERJEE		J B+	21.0	B+ -	28.0	A+ -	27.0	A+ -	27.0	_ A	24.0	- -	16.0	_ A	16.0	-	<u>-</u>	159.0	20.0	7.95	-
MPH/10027/15	SOMDATTA ROY		J A	24.0	B -	24.0	A -	24.0	A -	24.0	B+	21.0	B+	14.0	A -	16.0	-	-	147.0	20.0	7.35	-
MPH/10028/15	DIPAYAN MONDAL		JA	24.0	В	24.0	Α	24.0	Α	24.0	Α	24.0	В	12.0	Α	16.0	-		148.0	20.0	7.40	-
MPH/10029/15	SAYANTAN BANERJEE		J B+	21.0	В	24.0	- B+	21.0	- В	18.0	A	24.0	A	16.0	A	16.0	-		140.0	20.0	7.00	-
MDI 1/40020/45	CVED AMID ZAID		J B	18.0	- C	20.0	- B+	21.0	- В	18.0	<u>-</u> В	18.0	- B+	14.0	- B+	14.0	-	<u>-  </u>   -	422.0	20.0	6.45	
MPH/10030/15	SYED AMIR ZAID		L -	-	-	-	-	-	-	-	_	-	-	_	-	-	-	-	123.0	20.0	6.15	-
MPH/10035/15	UROOJALAM		J B+	21.0	B -	24.0	A -	24.0	A -	24.0	A -	24.0	B+	14.0	A -	16.0	-	<u>-</u>     -	147.0	20.0	7.35	-

MMA1101(3) : BIO-STATISTICS MPS1101(4) : ADVANCED INSTRUMENTAL ANALYSIS MPS1113(3) BASIC APP IN DRUG DISC & DEV MPS1131(3) : BIOLOGICAL STD AND PHARMA SCR MPS1133(3) : MOLECULAR PHARMACOLOGY & ADVAN MPS1112(2) : MODERN ANALYTICAL TECHNIQ LAB MPS1132(2) : PRECLINICAL STUDIES LAB

Controller of Examinations

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

# BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: 05-MAR-2016

Reference: EXAM / SPADHI / BITIC / MESRA / MPHARMA-FIRST / (MO/15) 2015-2016

By the order of Examination committee, the following is the result of MPHARMA - FIRST Semester held in the month of NOV-2015

SESSION	2015-2016 CLASS : MPHARMA					BRANCH : PHARMACY							SEMES	STER / TR	IMESTE	ER : F	IRST		MONTH OF EXAM : NOV-2015			
ROLL NO	NAME	U L	MMA	1101(3) -	MPS	1101(4) -	MPS	113(3)	MPS	1131(3)	MPS1	133(3)	MPS	1112(2)	MPS1	132(2) -		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MPH/10036/15	ANUSUA BISWAS	U	В	18.0	В	24.0	Α	24.0	B+	21.0	B+	21.0	B+	14.0	B+	14.0	-	-	136.0	20.0	6.80	
WET   10030/15	NUSUA BISWAS	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	130.0	20.0	0.60	-

MMA1101(3)	: BIO-STATISTICS	-	:
MPS1101(4)	: ADVANCED INSTRUMENTAL ANALYSIS	-	:
MPS1113(3)	: BASIC APP IN DRUG DISC & DEV	-	:
MPS1131(3)	: BIOLOGICAL STD AND PHARMA SCR	-	:
MPS1133(3)	: MOLECULAR PHARMACOLOGY & ADVAN	-	:
MPS1112(2)	: MODERN ANALYTICAL TECHNIQ LAB	-	:
MPS1132(2)	: PRECLINICAL STUDIES LAB	-	:

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Disclaimer

Grade card will be issued by the institute in due time.